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What is this passage mainly about?

What is the speaker talking about?

What should be the best title for the passage?

What is the main idea of the passage?

X 2 BErNS

HWHRAREREFRECEZENARER, DERIHEITHENFI AR,
BEAU MREEI



HIEF MR AAETITIE
What can we infer from the passage?
What do we learn from the passage?
What does the speaking imply by saying...9
According to ..., what does he/she mean by ...¢
What does/did ... show?
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What does the speaker say about...?
Where is ...located?

How high are the ... in ...Q
When will they probably do...9
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How does the speaker feel about...?

What is the speaker’s attitude towards...9

What should ... in the speaker’s opinion?
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Why does the speaker say...?
Why are they concerned with...?

What may be the reason for...?
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\IIXSEITINCR /nn this section, you will hear 3 short passages. At the end of each pas-
sage , you will hear some questions. Both the passage and the questions will be spoken
only once. After you hear a question, you must choose the best answer from the four|
choices marked A), B), C)and D). Then mark the corresponding letter on Answer
Sheet 2 with a single line through the centre.
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Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A) 14 people died and 50 people remained missing.
B)53 people died and 47 remained missing.
C)47 people died and 50 remained missing.
D )53 people died and 47 people were injured.
27. A) Deadly tragedies. B) Fire prevention technologies.
C) A global challenge. D) Fast urbanization.
28. A) High-rises should be prevented from building.
B) Safety measures should be enforced to stop these tragedies.
C) More responsible welders should be hired.
D) Fire prevention technologies should be up-to-date.
Passage Two
Questions 29 to 31 are based on the passage you have just heard.
29. A) The data got by the researchers.
B) The causes of texting or social networking.
C) The popular and risky behaviors among high school students.
D) The relationship between high school students™ behaviors and texting or social
networking.
30. A)20. B)10. C)4. D)S.
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31. A) About 20 percent sent at least 120 text messages a day.
B) Those 4 percent were at thrice the risk of nonusers for fighting and drinking.
C) High school students tend to fit in through behaviors they perceive as popular.
D) Behaviors such as risky sex, depression, eating disorders, drug and alcohol

abuse and absenteeism make us worried.

Passage Three
Questions 32 to 35 are based on the passage you have just heard.
32. A) Helping developing countries.
B) Proposing the 12th Five-Year Program.
C) Strengthening effective international cooperation.
D) Combating climate change.
33. A) China will make progressive efforts to boost energy efficiency.
B) China will promote low-carbon technology.
C) China will cut its carbon intensity by 40 to 45 percent by the year 2015.
D) China will establish carbon trade markets.
34. A)26%. B)46% . C)40% . D)45% .
35. A) The rich nations should shift and shirk responsibility.
B) The rich nations should provide developing countries with funds to deal with
the global issue.
C) The rich nations should passively respond to requests and suggestions from
developing countries.
D) The rich nations should cut its carbon intensity by 40 to 45 percent by the
year 2020.

Test 2

Passage One
Questions 26 to 28 are based on the passage you have just heard.

26. A) Disease to Please. B) Powerless behavior.
C) Learn to say NO. D) Sandwich technique.
27. A) Setting firm boundaries. B) Saying No at work.
C) Saying No to family and friends. D) Controlling your time.
28. A) Disappointed. B) Firm.
C) Regretful. D) Furious.

Passage Two
Questions 29 to 31 are based on the passage you have just heard.

. 8 .
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29. A) Prof. Bill White's * Organizational Behavior” course.
B) The application of a device in the lecture hall.
C) The side effects of the “clickers™.
D) A device with an entertaining purpose.
30. A) It made it harder for them to respond to text messages.
B) It reinforces what you're supposed to be doing as a student.
C) It makes you pay atiention to the professor’s lecture.

D) It makes it convenient for them to send their feedbacks.
31. A) Neutral. B) Negative. C) Indifferent. D) Positive.

Passage Three
Questions 32 to 35 are based on the passage you have just heard.
32. A) Nov. 12, 2012. B) Dec. 12, 2012.
C)Jan. 21, 2012. D) Dec. 21, 2012.
33. A) The Doomsday is the day when the Mayan calendar ends.
B) History did begin at 3112 B. C.
C) What happens in 2012 is the ending of a major cycle of 3115.
D)2012 is the ending of a 5,125 year cycle.
34. A) The history of civilization builds up from Uruk.
B) Iraq derived the name from Uruk.
C) Uruk was founded by seven wise men at the beginning of history in Egypt.
D) Uruk was the first city in history founded circa 3100 B. C.

L
h

. A) The speaking doesn’t buy the popular assumption about the Doomsday.
B) The Doomsday will come eventually.
() The history of civilization will draw to an end on the Winter Solstice of 2012.

D) The Maya were much smarter than us modern people.

Test 3

Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A)To explain the reasons why men are crazy about football.
B) To make a comparison between men and women’s hobbies.
C)To provide tips on watching football game.
D) To give suggestions on how to help girlfriends to understand football.
27. A)It’s a crazy way for men to express emotion.

B) It evokes a sense of independence and camaraderie.

) 9 .
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C) 1t has the potential to cause tension in the relationship.
D) It arouses the interest of the majority of women.
28. A) You should ascertain your girlfriend’s level of football knowledge.
B) You should insist on your girlfriend’s seating with you, watching the game.
C) You should take the time to explain the game to your girlfriend.

D) You should have more persistence and patience.

Passage Two
Questions 29 to 31 are based on the passage you have just heard.
29. A) What dreams are and why people dream.
B) The psychological reasons for dreaming.
C) The function of dreams.
D) The contents of dreams.
30. A) We dream to assist the body with rest, repair and rejuvenation.
B) We dream to reexamine the day’s events.
C)We dream to provide an outlet for pent-up emotions.
D) We dream to relive the experience during the day time.
31. A) Because most dreams incorporate recent events and occurrences we've experi-
enced.
B) Because dreams are naturally egocentric.
C) Because dreams remove the conscious and unconscious stimuli it receives.

D) Because dreams are the direct result of repressed emotions.

Passage Three
Questions 32 to 35 are based on the passage you have just heard.
32. A) The moment that changed our life.
B) Suggestions on invitation.
C) The application of technology in daily life.
D) Dating: to text or to phone?
33. A) Because it was around Christmas.
B) Because the world’s first text message was sent by Neil Papworth.
C) Because it was the time to say Merry Christmas on the phone.
D) Because it was the time when Neil Papworth got an offer in Vodaphone.
34. A) 1t is brief but it can still get the point across.
B) It can be proofread hefore sending.
C) It may give the impression that the sender is something of a coward.
D)1t is decidedly more comfortable than telephone.
35. A) It is a more courageous act. B) It is more awkward.
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